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The goal for this method is to make a good substitution to

compute integrals which contain one of the following expressions :

① ⑤ ②

(K = constant)KE EE KE

Strategy: Use the pythagorean theorem as our guide .

a' + b.
2
= C2 → c = Fib

or :
a' = c. 2- b2 → a =¥2

.

These equations replace expressions like ①
,
BO
,
& ② with something simpler.

Now, we just have to label a right triangle in a good way .

① K ✗ = kcoso

FE = K since } d✗= -Ksmodo NoT In any
of

a) KFI = Ksmo the calculations with

triangles to the left,
✗ = Kcoso ⇒dx= - Ksinodo

we could switch the
roles of the legs of
the triangle & get a⑤ ✗ different substitution that

fÉK = ✗since can work (this is the

a) = Ksecosno = Ktand ✗ = KSECO
same as calling the

other} dX= Ksecotanodo non- right angle
"
o
") .

K = xcoso ⇒ ✗ =
E- Kseco

FEE = ktano
⇒ dx = ksecotanodo

②k
✗ =Fix'sno = ⇒ since = Ktano

a } a- ktanoK=FÉcoso ⇒Fix = = kseco DX = Kseiodo

FE = Kseco
✗= ktano ⇒ dx = Kseiodo


